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dds.discr
oibiostat

oibiostat
oibiostat

oibiostat dds.discr

dds.discr
data("dds.discr") dds.discr

library(oibiostat)1
data("dds.discr")2
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glimpse()
glimpse()

glimpse() tidyverse
dplyr
glimpse() tibbles str()

library(tidyverse)1
glimpse(dds.discr)  # from tidyverse package (dplyr)2

Rows: 1,000
Columns: 6
$ id           <int> 10210, 10409, 10486, 10538, 10568, 10690, 10711, 10778, 1…
$ age.cohort   <fct> 13-17, 22-50, 0-5, 18-21, 13-17, 13-17, 13-17, 13-17, 13-…
$ age          <int> 17, 37, 3, 19, 13, 15, 13, 17, 14, 13, 13, 14, 15, 17, 20…
$ gender       <fct> Female, Male, Male, Female, Male, Female, Female, Male, F…
$ expenditures <int> 2113, 41924, 1454, 6400, 4412, 4566, 3915, 3873, 5021, 28…
$ ethnicity    <fct> White not Hispanic, White not Hispanic, Hispanic, Hispani…
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dds.discr_Hips_WhnH <- dds.discr %>%  1
  filter(ethnicity == "White not Hispanic" | ethnicity == "Hispanic" ) %>% 2
  droplevels()   # remove empty factor levels3

4
ggplot(data = dds.discr_Hips_WhnH,   5
       aes(x = expenditures,6
           y = age.cohort)) + 7
  geom_boxplot(color="darkgrey") + 8
  facet_grid(rows = "ethnicity") +   9
  labs(x = "Annual Expenditures ($)",10
       y = "Race and ethnicity") +11
  geom_jitter(     12
    aes(color = ethnicity),      13
    alpha = 0.3,      14
    show.legend = FALSE,      15
    position = position_jitter(     16
      height = 0.4))      17
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mean_expend <- 1
  dds.discr_Hips_WhnH %>% 2
  group_by(3
    ethnicity, age.cohort)%>% 4
  summarize(5
    ave = mean(expenditures))6

mean_expend1

# A tibble: 12 × 3
# Groups:   ethnicity [2]
   ethnicity          age.cohort    ave
   <fct>              <fct>       <dbl>
 1 Hispanic           0-5         1393.
 2 Hispanic           6-12        2312.
 3 Hispanic           13-17       3955.
 4 Hispanic           18-21       9960.
 5 Hispanic           22-50      40924.
 6 Hispanic           51+        55585 
 7 White not Hispanic 0-5         1367.
 8 White not Hispanic 6-12        2052.
 9 White not Hispanic 13-17       3904.
10 White not Hispanic 18-21      10133.
11 White not Hispanic 22-50      40188.
12 Whit t Hi i 51+ 52670
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mean_expend_wide <- 1
  mean_expend %>% 2
  pivot_wider(3
    names_from = ethnicity,4
    values_from = ave)5

mean_expend_wide1

# A tibble: 6 × 3
  age.cohort Hispanic `White not Hispanic`
  <fct>         <dbl>                <dbl>
1 0-5           1393.                1367.
2 6-12          2312.                2052.
3 13-17         3955.                3904.
4 18-21         9960.               10133.
5 22-50        40924.               40188.
6 51+          55585                52670.
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mean_expend_wide <- mean_expend_wide %>% 1
  mutate(diff_mean = `White not Hispanic` - Hispanic)2

3
mean_expend_wide4

# A tibble: 6 × 4
  age.cohort Hispanic `White not Hispanic` diff_mean
  <fct>         <dbl>                <dbl>     <dbl>
1 0-5           1393.                1367.     -26.3
2 6-12          2312.                2052.    -260. 
3 13-17         3955.                3904.     -50.9
4 18-21         9960.               10133.     173. 
5 22-50        40924.               40188.    -736. 
6 51+          55585                52670.   -2915. 
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tidyverse

tidyverse tidy

tidyverse library(tidyverse)
tidyverse

%>%
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%>%
mutate()
select()

filter()
pivot_wider()

tabyl() janitor

summarize()
group_by()
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tidyverse
tidyverse_packages(include_self = TRUE)1

 [1] "broom"         "conflicted"    "cli"           "dbplyr"       
 [5] "dplyr"         "dtplyr"        "forcats"       "ggplot2"      
 [9] "googledrive"   "googlesheets4" "haven"         "hms"          
[13] "httr"          "jsonlite"      "lubridate"     "magrittr"     
[17] "modelr"        "pillar"        "purrr"         "ragg"         
[21] "readr"         "readxl"        "reprex"        "rlang"        
[25] "rstudioapi"    "rvest"         "stringr"       "tibble"       
[29] "tidyr"         "xml2"          "tidyverse"    
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